H31 B AR ER xlsx

4 B 715N ERFENER

56 . — MR TERSE [$5M 8 IR (£5))

BR5EH = Bifi | %8 | £%8 |H=E| £%8 | = | &% &%
4A28 B F @RfFE 100 90| 9,000 50| 5,000 40| 4,000
48108 El*#‘(#ﬂﬁél 100 41 4,100 33] 3,300 8 800
48118 E*d@(mﬁg 100 8 800 8 800 0 0
4A158|HFGEAR) | 100 26/ 2,600 6 600 20| 2,000
4A168 BT GAR) | 100 2 200 0 0 2 200
4B17B|ERFGAREFEH 100 50| 5,000 50/ 5,000 0 0
4A18H E*i@(mﬁg 100 54| 5,400 40| 4,000 14 1,400
48198 El*#‘(#ﬂﬁ‘aﬁl 100 29| 2,900 23| 2,300 6 600
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
BHAX(BHE  100]  272| 27,200 | 204 20,400 68| 6,800
BREFGEEE) ]| 100 28| 2,800 6 600 22| 2,200
&t 300[ 30,000] 210| 21,000 90| 9,000
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56 . — MR TERSE [$5M 8 IR (£5))
BR5EH an B Bifi | %8 | £%8 |HK=| £%8 | = | £ &%
TH22B B GAR)| 100 29| 2,900 0 0 29| 2,900
7238 [ERFGEASR) | 100 21| 2,100 21| 2,100 0 0
78248 [R4—ka—>| 100 26| 2,600 0 26| 2,600
78268 |AREX (AR | 100 181 18,100 130[ 13,000 51 5,100
7TH298 |8 F FAR)| 100 27| 2,700 18| 1,800 9 900
7298 [RA—ka—>| 100 9 900 0 0 9 900
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
BREF@AR{FEH 100 0 0 0 0 0 0
HAX(GA&)| 100/ 258| 25800 | 169| 16,900 89| 8,900
AA—hka—>| 100 35| 3,500 0 0 35| 3,500
&t 293| 29.300] 169] 16,900| 124| 12,400
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56 . — MR TERSE [$5M 8 IR (£5))

BR5EH an B Bifi | %8 | £%8 |HK=| £%8 | = | £ &%
8H2B[ERF(FASED |  100[ 153| 15300 | 142| 14,200 11| 1,100
8H2B[RA—Fa—>| 100 3 300 0 0 3 300
8HTB[RA—ha—>| 100 5 500 0 0 5 500
8H8H|EArF GAR)| 100 70| 7,000 70| 7,000 0 0
8HIB[ERF (A | 100/ 110] 11,000 | 104| 10,400 6 600
8H198 /8T UAh 130 24| 3,120 6 780 18| 2,340
8H22H|/8FUAh 130 11| 1,430 0 0 11| 1,430
8H26H|/8FUAh 130 9 1,170 0 0 9 1,170
8H30H|/8FUAh 130 6 780 3 390 3 390
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
HAX(GA%ED)| 100| 333] 33300| 316] 31,600 17| 1,700
AA—hka—>| 100 8 800 0 0 8 800
NT)H 130 50| 6,500 9 1,170 41 5330
&t 391 40,600] 325| 32,770 66] 7,830
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#R5c B i B Effi | 18 | £8 |¥E | 8 | HE | £ &%
9838 |/ TYAh 130 11| 1430 0 0 11] 1,430
9868 |/ FUAh 130 12| 1560 12| 1,560 0 0
9898 |/ FYAh 130 4 520 1 130 3 390
98108 [/X\TUH 130 5 650 5 650 0 0
98138 [/X\TUA 130 12| 1560 0 0 12| 1,560
98178 [/NTVH 130 10| 1,300 10| 1,300 0 0
98208 (/T 130 6 780 1 130 5 650
98268 [/XTUh 130 10| 1,300 10| 1,300 0 0
98278 [/XTVH 130 4 520 0 0 4 520
98308 [/X\TUAh 130 5 650 0 0 5 650
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
APy 130 79| 10270 39| 5070 40| 5200
&t 79] 10270 39] 5070 40| 5200
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HR5E H = Hifif | ##2 | £4% | HE | €% | H=| =8 &%
10848 |/\7UA 130 5 650 0 0 5 650
10898 |/\FUA 130 4 520 4 520 0 0
10A11B[/\FUAh 130 3 390 0 0 3 390
108118 (Zayal)— 70 6 420 0 0 6 420
108158 (7 @yal)— 70 21| 1,470 0 0 21| 1,470
108168 [/ UH 130 8| 1,040 4 520 4 520
108188 (7 Ovyal— 70 311 2170 311 2170 0 0
108218 (7@yal)— 70 53| 3,710 36| 2,520 17[ 1,190
108238 (7 Oyal— 70 43| 3,010 22| 1,540 21| 1,470
108258 (/A7 130 13| 1,690 11] 1,430 2 260
108258 (7 Oyal— 70 53| 3,710 37| 2590 16] 1,120
108288 (7 Oyal)— 70 31 2170 12 840 19 1,330
108308 (7 avyal— 70 33 2310 14 980 19[ 1,330
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
NTUh 130 33| 4290 19[ 2470 14 1,820
Joyal)— 70 271] 18970 | 152| 10,640 | 119] 8,330
H 304| 23260] 171] 13,110] 133] 10,150
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HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
HA1H|FAyal— 70 21] 1,470 21] 1,470 0 0
11 A5H|7Aayaly— 70 39| 2730 26| 1,820 13 910
11A6B|/\FUAH 130 24| 3,120 19] 2,470 5 650
11A78|7Aayaly— 70 16] 1,120 16] 1,120 0 0
HANA|[Zayal— 70 46| 3,220 27] 1,890 19] 1,330
118128[/3F U 130 13| 1,690 5 650 8| 1,040
1A128|53F GAE) 100 85| 8,500 40| 4,000 45| 4,500
11A138|Fayaly— 70 20| 1,400 20| 1,400 0 0
1A13A|EHRF GAE) 100 60| 6,000 60| 6,000 0 0
11A158|Fayal— 70 42| 2,940 28] 1,960 14 980
11A18A|H+F GAE) 100  130| 13,000 96| 9,600 34| 3,400
11A188|Fayal— 70 29| 2,030 24| 1,680 5 350
11A198[/\FUAh 130 10[ 1,300 3 390 7 910
1A198 [BRF GAR) 100 16| 1,600 6 600 10{ 1,000
11A218|Fayal— 70 29| 2,030 9 630 20| 1,400
118228([/8F A 130 4 520 0 0 4 520
11A258 |7 ayal— 70 23] 1,610 3 210 20| 1,400
118268 [BRF AB{FE| 100 64| 6,400 64| 6,400 0 0
11A288[/\FUAh 130 6 780 4 520 2 260
1182908 [Jnyay—(om) 50 21| 1,050 21] 1,050 0 0
NTUh 130 57| 7410 31] 4,030 26| 3,380
Joyal)— 70| 265| 18550 | 174] 12,180 91] 6,370
J0yaY—(50M) 50 21] 1,050 21] 1,050 0 0
SESSGEED) 100  291| 29,100 202| 20,200 89[ 8,900
B @RFE[ 100 64| 6,400 64] 6,400 0 0
&t 698 62510[ 492 43860| 206] 18,650
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HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
12448 |7Ayal— 50 19 950 6 300 13 650
1248 |5 +F GAR) 100|  158| 15,800 111] 11,100 47( 4,700
12A5H | ¥ GAR) 100 23] 2,300 23] 2,300 0 0
12A9H|7Aayal— 50 8 400 8 400 0 0
12A9H |BARF (BfFE| 100 64| 6,400 35| 3,500 29| 2,900
12A168|FOyal— 50 15 750 15 750 0 0
128248 |3 <X ABHZ[  100[ 221 22,100 | 137| 13,700 84| 8,400
12A248 |7 Oyal— 50 16 800 16 800 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
INTYH 130 0 0 0 0 0 0
Jayal)— 50 58| 2,900 45| 2250 13 650
BH¥ GAE) 100 181] 18,100 | 134| 13,400 47| 4,700
BrX(ARftE[  100[ 285 28,500 172] 17,200 113[ 11,300
&t 524| 49,500 351| 32.850| 173| 16,650
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HR5E H 1= Hifi | %8 | £%8 |%&E | €8 |5 | <& EE
1A6B[EBRFGR{FE[ 100 75| 7,500 36/ 3,600 39] 3,900
1868 |Jayal— 50 27| 1,350 15 750 12 600
1A78 (B8R GR{FE] 100 26| 2,600 26| 2,600 0 0
1898 |[Fayal— 50 19 950 6 300 13 650
18148 |7Ayal— 50 5 250 2 100 3 150
18178 |7ayal— 50 5 250 1 50 4 200
18178(232# 180 30 5,400 12| 2,160 18] 3,240
18228 |7ayal— 50 9 450 0 0 9 450
1308 |YrE 70 36] 2520 16 1,120 20| 1,400
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
Joyal)— 50 65| 3,250 24| 1,200 41 2,050
BX (#B{tE| 100/  101| 10,100 62| 6,200 39| 3,900
2agh 180 30| 5,400 12| 2,160 18] 3,240
YhAE 70 36| 2520 16| 1,120 20| 1,400
&t 232| 21,270 114] 10,680 118] 10,590




H31 A AlIRNER xIsx
2 A 5N ERFENER
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HR5EH = Hifi | %8 | £%8 |%5| €8 |5 | <& EE
2A3H[Y R E 70 20| 1,400 9 630 11 770
2A6H[HrME 70 8 560 0 0 8 560
2ATH|YHME 70 11 770 5 350 6 420
2878 |BrF (ARfFE| 100 36] 3,600 0 0 36] 3,600
2A26B[ERFGR{FE[ 100 43| 4,300 34| 3,400 9 900
2A26H|BF GAR) 100 22 2,200 0 0 22| 2,200
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
HAE@RFE| 100 79| 7,900 34| 3,400 45| 4,500
B GAR) 100 22| 2,200 0 0 22 2,200
YhAE 70 8 560 14 980 25| 1,750
&t 140] 12,830 48| 4380 92| 8,450
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HR5E H 1= Hifi | %8 | £%8 |%&E | €8 |5 | <& EE
SAH[ERFGR{FE[ 100 52| 5,200 28| 2,800 24| 2,400
3A16B|BARrRX (ARftE[  100[ 105 10,500 75 7,500 30/ 3,000
3A17TH|ARX (AB#HE| 100[  127] 12,700 111] 11,100 16| 1,600
SA19B[BRFGR{FE[ 100 47| 4,700 36] 3,600 11] 1,100
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
B (4B 100|331 33,100 | 250 25,000 81] 8,100
&t 331| 33,100 250| 25,000 81 8,100




